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 – I 

        .   14   : 42 
1.       .  
 

2.    ?  -  .  
 

3.     ?         ? 
 

4.          ? 
 

5.             ?   ? 
 

6.      .  
 

7.       .  
 

8. ‘Limits to Growth’  ‘Zero Growth’     .  
 

 – II 

  4 MCQ   : 
 9. MCQs : 8 
 (1)     ? 
  (a)    . 
  (b)       .  
  (c)        .  
  (d)              .  
 (2)               

  : 
  (a)          
  (b)       
  (c)          .  
  (d)          .  
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 (3)                 ..... 
  (a)      . 
  (b)       .  
  (c)        .  
  (d)      .  
 (4)               ..... 
  (a)       .  
  (b)          .  
  (c)        .  
  (d)        .  
 (5)               

_____   
  (a)         
  (b)       .  
  (c)      .  
  (d)        
 (6)       “     ,   

              .” 
  (a)    (b)    
  (c)   (d)   
 (7)    (EKC)     . 
  (a)   ,           

   .  
  (b)           .  
  (c)    ,      ,   

         .  
  (d)          . 
 (8)      standard       

       ? 
  (a)    (b)    
  (c)     (d)    

___________ 
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PART – I 

 Attempt any three questions from the following. Each questions is of 14 marks : 42 
1. Explain the relation between Environment and Economic Development. 
 
2. What is Eco-system ? Explain the various functions of Eco-system. 
 
3. What is Market Failure ? How asymmetric information result in market failure ? 
 
4. Explain how externality results in market failure in environmental goods. 
 
5. Do you think that Pigouvian tax is effective in controlling pollution ? How ? 
 
6. Explain the theory of Tradeable Pollution Permits.   
 
7. Discuss the concept of sustainable development with the indicators. 
 
8. Critically evaluate the concept of limits to Growth and ‘Zero Growth’. 
 

PART – II 
 Attempt any 4 MCQs from the following : 
9. MCQs : 8 
 (1) What is a common-property regime ? 
  (a) Individuals hold entitlement. 
  (b) Government owns and controls property. 
  (c) No one owns or exercises control over the resource. 
  (d) Property is jointly owned and managed by a specific group. 
 (2) An excise tax newly imposed on a good for which negative externalities are 

generated in production would tend to cause : 
  (a) enormous excess burdens relative to tax revenues collected.  
  (b) unambiguously enhanced economic equity. 
  (c) greater use of the good to replace its close substitutes. 
  (d) higher prices and falling production, which may be desirable in such cases. 
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 (3) Internalizing all costs that were previously external to a polluting industry and its 
customers causes 

  (a) both output and the cost of the product to rise. 
  (b) output to fall and the private cost of the product to rise. 
  (c) the standard of living adjacent to polluting factories to fall. 
  (d) both output and the price of the product to decline. 
 (4) If both polluters and pollutees belong to small, easily identified groups : 
  (a) regulation is the best solution to pollution. 
  (b) output taxes create proper incentives to adopt cleaner technology. 
  (c) private bargaining may be the most efficient way to reduce externalities. 
  (d) it is very difficult for polluters to internalize externalities.   
 (5) If the marginal private costs of pollution abatement exceed its marginal social 

benefits, efficient moves might entail reducing   
  (a) pollution until the external effects were negligible. 
  (b) abatement programs and allowing more pollution. 
  (c) the adoption of newer and more efficient capital. 
  (d) national output to conserve more of our natural resources. 
 (6) Which law of thermodynamics states “The change in the internal energy of a 

closed thermodynamic system is equal to the sum of the amount of heat energy 
supplied to or removed from system and the work done on or by the system ?” 

  (a) The 1st Law of Thermodynamics 
  (b) The 2nd Law of Thermodynamics 
  (c) The Coase theorem 
  (d) The Porter Hypothesis 
 (7) One of the important implications of an Environment Kuznets Curve (EKC) is that  
  (a) At low levels of income, pollution does not rise with flat growth because the 

pollution response is weak.  
  (b) Growth and development in a country does not necessarily lead to 

environmental degradation. 
  (c) As income falls, the willingness to pay for environment quality rises, and 

increasingly large sacrifices in consumption are made to provide great 
environmental benefits. 

  (d) Below a threshold level of pollution, the dirtiest technology will not be used. 
 (8) When government uses laws and regulations that dictate the standards and 

technology used to reduce pollution, which approach is the government using ? 
  (a) The Precautionary Principle 
  (b) The Coase Theorem 
  (c) Command-and-control regulations 
  (d) Pigovian Tax 

___________ 


